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INSTRUCTIONS TO CANDIDATES

[Lise only blue/black ball-point pen in the space above and on both sides of the Answer Sheet}

1. Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to ensuire Lhal
it contains all the pages in correct sequence and that no page/question is migsing. In case of faalty
(Juestion Bocklet bring it to the notice of the Superintendent /Invigilators immediately to obtain a
fresh Question Bookleti,

2. Do not bricg any loose paper, written or blank, inside the Bxamination Hall except the Adnuit Coered
without its envelope.

3. A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated,

4. Write vour Roll Number and Senal Number of the Answer Sheet by pen in the space praovided above

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is aliowed in the entries of Roll No., Question Boaklet No. and Set No. fif any} oo
OMR sheet and also Rell No. and OMRE Sheet No. on the Question Booklet,

7. Any change in the aforesaid entries is 1o be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in this Bookiet is followed by four alternative answers, For each guestion, you are (v
record the correct eption on the Answer Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the [icst page
of the Answer Sheet.

9. Far each question, darken only one circle on the Answer Sheet. If you darken more thatt ene circle
or darken & circle partially, the answer will be trealed as incorrect.

10.  Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question.
leave: all the rircles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end nf {his
Booklet.

12. Deposit only the OMR Answer Sheet at the end of the Test.
13. Vou are pot permitted to leave the Fxamination Hall until the end of the Test.

14, I a candidate attempts to use any form of unfair means, he/she shail be lialsle to such punishimen:
as the Universily may determine and impose on him / her.
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No. of Questions /Uyt & 54T ; 120
Time /894 : 2 Hours /902 Full Marks/qUTi® : 360

Note : (1} Attempt as mary questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted guestion.

wﬁmﬁmmﬁﬁmﬁwmﬁlmmaﬁmﬁim
Em%hgwm%lﬁam&ammmm
|

(2) If more than one alternative answers seem to be appruximate to the
correct answer, choose the closest one.

gﬁmmmaﬁm#ﬁmnﬂaﬁ,a}ﬁmﬁnﬂﬁm
|

1. Which one of the following planets does not have any satellite?

{1) Jupiter (2) Venus (3) Neptune (4) Uranus

Frferiga 4 & 59 18 =1 #¢ aum EI &

(1) Fewid 2) % (3} = (4) wm
31 !

(P.T.0
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17P/207/17 Set No. 1

2. In constitution of the Earth ‘Sima’ forms

{1} top layer {2) second layer (3] third layer (4) bottom layer
yeelt ot e A w2
(1) ¥ *w 2) ferfm = (3) g A (@) N w®

3. Which among the following planets has the maximum average density?

(1) Venus (2) Jupiter (3) Mars (4) Saturn
i o @ frg g & aitma e fusad 27
(1) I (2) FEO (3) HA (4) W

4. The tida! theory related to origin of Earth owes 1o
{1} Chamberlin and Moulton (2] Hoyle and Lyitleton

{3) Russell and Littleton (4) Jeans and Jeffreys
gﬁ'ﬁawﬁ%mﬁﬂﬁﬁmﬁ@?[%aﬂmﬁ

(1) Awmfest T e 2) e @ e
@) we w fafee (4) e @@ IF
5. Which one of the following planets is nearest to the Sun?
(1) Pluto {2) Mercury (3) Jupiter [4) Venus
—y A R AR
(1) =@ @ 3 (3) Fewa (@) TF

(31)
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6, Which one of the following elements contributes most significantly in
composition of crustal rocks?

(1) Aluminium {2} Silicon (3) Oxygen (4) Iron

7l wgAt @ A A § @ few om @ dem weifuE 27
(1) wegffm (2} fafonia (3) i (4) wig

7. Monadnocks are formed in which of the following stages of normal cvcle of

erosion?
{1} Initial (2) Young (3) Mature {4) Old
AT WS S U % FeratEs § 3 g w § B w2
(1) Srefere (2) T (3) W3 (4) 93
8. Nappes are associated with
(1) faulting (2} folding 13) fluvmal action (4) glaciation
I Feie R
(1) 999 & (2) Jom & (3) T frm & (4) Rt fear 4

9. “Cavern’' is characteristic of

{1} glacial topography (2) marine topography

(3] karst topography (4) arid topography

R R

(1) ot wests # 2 g Teami H

(8) F WEIFR A (4) Y TR §
(31) 3

{P.T.0)
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10. Frost action is related to which one of the following types of weathering?

(1} Physical (2) Chemical (3) Biological (4) General
g fFm e s wEnl O @ Reed wwfRm Re
(1) Wi (2) THER® (3) Hfa® (4) |-

11. Which one of the following planets has greater volume but low density?
(1) Mercury (2) Venus (3) Jupiter (4] Mars
frafafier w8 4 @ #9992 U9 W FH wAE Fer 27
(1) 39 2) IF (3) ook (4) W

12. In the structure of the atmosphere, mesosphere lies between
(1} thermosphere and exosphere {2} stratosphere and thermosphere
{3) troposphere and stratosphere (4} exosphere and ionosphere
IHIES 1 BUE 0 HeWvsd fd @ —— W H)

(1) THUEE U ARV (2) HHATIRUSET Ud AUAVEH &
(3) HWUET U RS & (4) WTEEVER Td AEAWEA F

13. Radio waves are reflected in which one of the following atmospheric layers?

(1} Exosphere (2) Troposphere (3) lonosphere (4} Stratosphere

fafr a0 e argveeia W 0§ R giarefeE @l g7

(1) SEvEH (2) &hHER (3) HFRAUEA (4) THATIHOSH
14. Corolis force is extremely weak at

| (1} tropic of Cancer (2) Equator

{3} Poles (4) tropic of Capricorn

31 4
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wifeifee 7a smafus Faw g 2
MFHFWR 2 FERG@R (3 Yd W (4) W tE W

15. Wind deflection is caused by

(1} difference in air pressure (2) difference in humidity
(3) rotation of Earth (4} Coriolis force

Tl d Rees & = far 2

(1) ag =z & = (2) amdan o 3=

@) gl = o (4) T

16. Natural levees are the outcome of the depositional work of

(1} wind (2) glaciers (3) rivers ' (4)  groundwater
Wi qeay aform B ¥ —— SuE R w9
(1) &0 % 2 forelt % () =Rt & (4) -9 F

17. Given below are two statements. One labelled as Assertion (A} and other labelled
as Reason (R). Select your answer from the codes given below :

\A) The thickness of the troposphere is the greatest at the equator.

(R} Near the equator insolation is high and convection currents are
strong.

(1) Both (A] and (R) are true and (R) is the correct explanation of (A

(2) Both (A} and (R) are true but (R) is not the correct explanation of (A)

(4) (&) is false (R) is truc

e

{31)
(P.TO)
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A TR oW R B F () o g H o (R) F WA femn wm 21 AN
(A) #ivvge i wied fagen ta wowetfes R
(B) Tagears t@r F e amve 3= w6 gew ool 3w §

(1) @ 3 (R 3 w8 ¥ @ (®), (4) B @ aen

(2) (A) 1 () Qi 8 ¥ WA (R), (A) F TE =men T8 R
(3) (A) WE1 § (R) eI ®

(4) (&) T } (R) u R

18. The tropic of cancer in India passes through

(1} Nagpur (2) Allahabad (3) Ranchi (4) Lucknow
T tan qg et @

(1) ATTgE (2) ST (3) (4) TGS

19. Which one of the following is responsible for movements of the earth crust and
occurrence of earthquakes?

{1) Terrestrial forces (2) Tectonic forces
(3) gravitational forces (4) mountain building forces
frafefigs 1 @ 37 WA & TURF W F9 % 9w 3R % fae soeeh 27
(1) witha &t (2) faedfF ==
(3) e w (4) wda Pttt @@

0. Salinity in the ocean is depicted by
(1) isonephs [2) syt (9 1soryme (4] isohaline

b

31
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22.

23.

@3y

17P/207/17 Set No. 1

AEETR H wavEl uidt St @
(1) SERAR T (2) AREER G0 (3) JRENR T (4) sMEEIEEIEA T

Mozambique current is a part of

(1) South Pacific Ocean (2) North Atlantic Ocean

{3} Indian Ocean (4} North Pacific Ocean
Trere® 9 T 9 2

(1) e s TERR @ (2) I 39 wEER =

(3) R v =\ (4) 3T0 waFa WERER 5
Which one of the following is the warm current of Atlantic Ocean?
{1} Canary current (2} Benguela current

(3) Agulhas current {4} Brazilian current

e & & 9 sewie wemrm £ w T w27

(1) &1 sm (2) STUA 9 (3) UEM HR [4) IR am
Given below are two statements. One labelled as Assertion (A) and vihict fabciled
as Reason (R). Select your answer from the codes given below -

(A} Thc_genaraj movement of the Ocean current in the northern
hen}isphcr{f: is clockwise and in the southern hemisphere s
anticlockwise.

(R} The Coriclis force is a deflection force that follow Ferrel's |qw
1) B - '
(1} Both (A) and (R) are true and (R) is the correct explanation of (A}

{2) Both (A} and (R) are true but {R) is not the correct explanation of
(3} {A) is true (R} is false
(4) (A} is false (R) is wrm— ————_

(A)

7

PT0y
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3 wR R ¥ w w wE (A) R gR W AW (R) B &0 A e omn j AR
ffu m Hz B wd I g

A) 30 e § g el @ g deen afered aw el T ¥
awrEd g 8l

{E]ﬁﬁsﬁmm%ﬁmaﬂ%aﬁmﬁmmwﬁ?m%
(1) () 3 (R) 31 W & W (R), (A) B @ e
(2) (A) 9 (R) A A § Y (R), (A) B & BN T 2
[9) (A 78 & (R) W R}
(4) (A) T & (R) TR

24. Which one of the following are not pastoral nomads?

(1) Pypmies (2) Kazaks (3) Masai (4} Lapps
frm 4 & s Tyt m@wEEm @ 30
(1) frest (2) FTH (3) e (4) o
25. ‘Kolg' of India and * Veddah' of Sti Lanka belong to which one of the following
races?
{1} Negro [2) Australoid (3) Mongoloids (4} Negriio
@ % FE e b Jr7 Freifeiag worfedl # & el i 22
(1) it (2) ALEE (3) HrEE (4) ARl
26. The highest percentage of the tribal population (as per Census, 2011) consists
of
EPLERL 3 g 3
(1) Bhils (2) mu 1) wanthals (4) Nagas
3

(31)
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30.
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S S @ wetE SRR (SR 2011 % s @ 2
(1) et g (@) gerit gm (@) durd gm @) it g

Whe among the following advanced idea of scientific determinism?

(1) Huntington  (2) Brunhes (3} Blache {4) Tayior
ﬁnﬁﬁﬁmﬁhﬁsﬁwﬁaﬁmﬁMﬁm?
(1) &féme (2) 5 (3) = (4) T

Which one of the following SAARC countries has constitutional provision for
70% of its geographical area under forest?

(1) Maldives (2) Afghanistan
{3) Nepal (4} Bhutan

ﬁqmﬂii‘?ﬁﬁﬁf&mﬁmﬁ;%ﬁﬁ&h%?{}%ﬁﬂfﬁﬁﬂmﬁa‘ﬁ%?ﬁﬂ
Faie S 29

(1) orerda (2) IEmEE (3) 9 (4] @A

Japan, a developed country, is almost self-reliant in which one of the following
minerals?

{1} [ron ore 2] Coal (3) Copper (4} Bauxite
w,wﬁmﬁ?ﬂ.ﬁqﬁﬁaﬁﬁaﬁﬂﬁﬁmﬂmﬂmﬁﬁz%?
(1) ¥e e (2) Frgem (3) afa (4) s

Which one of the following countries exports

rice production? the highest bercentage of its rota)

{1} China (2) Vietnam Tt eeesia g Myanmar

o (P.T.0,)

.
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ﬁﬂhﬁﬁﬁﬂqmﬁaﬁamwm@mﬁwﬁaﬁw%?
(1} =H (2) FeraeH (3) et (4) IR

31. The concept of quaternary activities was propounded by

(1} C. F. Jones (2) E. Murphy

(2} Jean Gottmann {4} Carl O. Sauer
T frnei 6 e skfE @ T A

(1) Hio Tho WA FH (2) $o whl g

(3] ST MREA g (4) FTe 3o @ g

32. Which one of the following is a renewable source of encrgy?

[1} WNatural gas (2) Crude oil

{(3) Geothermal energy (4} Coal
ﬁﬂﬁﬂﬁﬂﬁwﬁﬂﬁfﬁmmﬂﬁm%?

(1) gl T (2) @i T @) e S (4) B

. g i 1 1 esl
43. Which one of the following countrnes hasv emerged 122 the second larg
producer (in ierms of percentage) of coffee in the world:

{1} Victnam 2} Brazil (3} Columbia {4} Iﬂdom:sia‘
ﬁmaﬁﬁﬂmﬁﬁmﬁﬁﬁmm&a@m(ﬁmﬁﬁm%w
% v B .
() e 2y snefict (3) i (4) EHTE

10

(31)
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34.

35.

(31)

17P/207/17 Set No. 1

Zimmerman's concept of ‘phantom resource’ refers to

(1} minimum use of resources

(2} maximum use of resources

(3) efficiency-based use of resources

4} miserly use of resources

i = Fem wwaa’ fagrg w T #

(1) "emt &1 Foes gwgm (2) Ol W ISR I9Em

(3) HANET F a3 I9A {4) e B HeEIgY 39

Which one of the following steel plants of USA is primarily based on imported
raw material?

(1) Sparrow Point (2} Detroit

{3) Burns Harbor (4) Seattle

ToWete & = o wwamt § § # wgEe: smfe w9 o W oy 27
(1) ¥ =me (2) Fw (3) % gkt (4) Reawa

Which one of the following courntries of Asia has the highest percentage of
cultivated area under irrigation?

(1} China (2) Pakistan (3) India (4) Japan
q&m%ﬁm%ﬁﬁ%#ﬁmﬁ@ﬁﬁ%ﬂwmuﬁmﬁiﬁaﬁ%m%?
(1) (2) T (3) v (@) STm

11
(P.T.0)
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37. Which one of the following countries records per hectare highest yield of wheat
in the world?

(1) China (2) USA (3) France (4) Australia
o 2wl & & w1 fow § A 1 ol Bo weifem IR @ R
(1) = (2) FoTHoTo (3) wa (4) srezfem

38. Which onc of the following is not a major tectonic landiorm?

(1) Block mountains ' (2] Volecanoes
[3) Subsequent stream (4) Basins
et § & ot wra PedhE w18 27
(1) Fiftee (sis) oda (2) ST
(3) el 7 (4) =

39, The stream having direction of its flow opposie 1o that of the original
consequent slope is termed

(1) obsequent stream (2} consequent stream

(3} subseguent stream (4) insequent stream

Hﬁﬂﬁﬂfﬁ?ﬁ@ﬂ%ﬁwﬂﬂﬁwﬁﬁﬁ%ﬁﬁﬁaﬁﬁﬁaﬂ%ﬁﬁ
() EEd T (2) sEdi W (3) wEd (4) ST T

40. During volcanic eruptions depositiun of lava in anticlines and synclines of
‘ folded mountains accounts for formation of
(4 Batholith (2) Phacolith (3} Lopolith (4} Laccolith

12
(31)
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43.

31)
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SENEE M ¥ 9 WMEER THhl o aTfedt we sl § aen % s
o fiffa g 2

(1) aeferer (2) Seniferg (3) ey (4) WAy

When two parts of a rock slide in front and one part rides over other the
resulting feature is termed

(1) lateral fault (2} step fault {3) reverse fault (4) normal fault

TG TN AN G W-TTH et € O @ Ei T m awifw @
e B, @t wfomreen e ol @ wwa @

(1) et ym (2) @ort yw (3) SERY W {4) SR WY

The amount and intensity of monsoon rainfall is determined by the frequency of

(1) western disturbances (2) dust storms

{3} eyclones (4) tropical depression

T a9t it e v e Pt @ 2 arEm g

(1) wivsfi faaiy & (2) Y& w3 &

(3) T & (4) 301 sieatfy T (zE)

The principle of isostasy based on uniform depth with different density is
propounded by v

(1) Hayford {2} Pratt (3) Joly (4) Airy

ﬁﬁam%mmmﬂwmﬁmmﬁa%mwé

(1) &wid g (2) %2 @ @ ==t gRy 4] @ g
13

(P.T.0,)
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44. Match List—] with List—Il and choose the correct answer from the code given

below -
List—I {Landforms) List—I1 {Agents of formation)
(a] Faults (i) Glacial activity
(b) Flood plains (i} Organic activity
fc) Coral reefs (i) Earth movements
(d] Moraines liv) Fluvial activity
Corle -

@ (o) kb (d)
(1 (1 {i) v
() ) v ) ()
(3) {i) fii) iy (iv)
(4)  liv G () (i)
1 # gl @ gif i our f9 RE T g A W I FEC

gel—1 (weFial) gefi—1 (Fmfor & #1F)
(A} W (y el fean
(b) T F HIH (i) S
() e fafy K GUEIGE
(d} H (iv} %8 foha
T

(a) (b) (c) (d)
(1) (i1) {1y (ii1) (iv)
2wy @ @
@ 0 iy W )
4 v @ (i)

14
(31)
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46,

47.

[31)
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Which one of the following States of India has almost monopoly in production of
zinc?

(1) Tamil Nadu (2) Uttarakhand
(3} Rajasthan (4) Andhra Pradesh

s ¥ frffer T @ R s % T § e R 27
(1) wfierg (2) SeRTES (3) TR (4) APERT

The maximum gap between male and female literacy in India (as per 2011
Census| found in the State of

(1} Rajasthan (2) Bihar

{3} Madhya Pradesh (4) Uttar Pradesh

wmﬁw@nﬁwmmﬁmw{mﬁ,gmi%m)w
Sl

(1) TeEaR ¥ (2) fomm # (3) wexwaw ¥ (4} I wew &

Which one of the following States of India has the highest percentage of
scheduled castes but no tribal population?

{1} Himachal Pradesh (2} Punjab

(3) West Bangal (4) Bihar

W*ﬁﬁ“ﬁﬁﬁwwﬁﬁﬁmﬂﬂﬁwwm
T 27 | '

() femes wew (2) T (3) Wom T (4 fn

(P.TO]
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48.

49,

o20.

(31) .

Which one of the following pairs is not correctly matched?

Cement Factory State
(1] Sikka Gujarat
(2} Bela Madhya Pradesh
(3] Sioty Rajasthan
(4) Dalmiapuram Bihar
fiet gl & ¥ W iR A 27

e T =T
(1) fom LEG
(2) ST L Pl
i3yt TSTETH
(4) SN forgmt

The luwest per hectare production of wheat is obtained in which one of the
following States of India?

1) Uttar Pradesh (2) Haryana

(3) Madhya Pradesh (4} Rajasthan

o % i T @ R T @ o o SR Frem T W 7
(1) 3™ e (2) wREmm (3) weAwEE (4) T

Mergui Archipelago, which was colonized by Japan for three years (1942-43) 1s
situated along the coast of

“'i “}ranma_{' [?‘I Indonesia [3] Mﬁlﬁ}'ﬁiﬂ (4} Singapore

16

.
@collegedunlas
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



91.

92,

53.

(31)
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mii omiFtEm, Wt @ W (1942-45) 9% WA % UG ¥ wY § @, flém 3
— % 72 W

(1} =R (2) TeHTE (3) A= (4) fEmg

Which one of the following Indian Ocean Realm countries accounts for about
98% of its export through Ocean?

(1) Kenya (2] South Africa (3] Australia (4) Yemen

gfa%mém%ﬁﬁﬁmgsaﬁﬁaﬁmﬁﬁam%wﬁ
?

WL (2) sfem b (3) siRfern (4) 9
The highest percentage of GDP (in terms of value] in Maldives 1s obtained from
f{l) Manuiacturing (2) Agriculture

(3) Transport and communication {#) Tourism

e H BhE WE, Iie (shodlodie) W ymw WfavW (rw g @) ww aar @

(1) awg Tamfor seim (2) Hfy 2

(3) wfiges v9 W9R & 4) wiax &

Which one of the following is not correctly matched?
Country Fort

(1) Somalia Berbera

(21 Yemen Mocha

(3) Australia Port Elizabeth

{4) Sri lLanka Trincnmgge

1%

(P.T.0)
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frm & & ¥\ gafm 96 27

w9 e
(1) grenfern 36
(2) T TirEn
(3) Are fema 9 ey
(4) s frermeh

54. The population density obtained through division of total population of an area
by the total agricultural land is termed

(1} agricultural density {2) physiological density

(3) arithmetic density (4) economic density
Whﬁ@@ﬁ@aﬁ{ﬁﬁﬁ#ﬁﬁﬁﬁ%ﬁ%waﬁm
T 2

() =8 e (2) FIFRF e

(3) FFER w9 4) s =S

55. Of the top ten most populous countrics af the world, Asia has

fvg ¥ 9 29 waifoE sweEn g 2at § & o & 2

(1) 4 (2) S (3) 6 (4) 7

86. Which one of the following countries has recently recorded maximum decline in
population?
(1} France (2) Sweden (3] Japan (4) Bulgaria

ﬁﬂmﬁmﬁﬁwmﬁmﬁmﬁafﬂﬁqgmﬁﬁmﬁﬂ}%?
(1) % (2) wrea {3) == () =R
18
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58.

59.
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Which one of the following has been declared as the World Popuiation Year?
TfeRae d & B faw sgem o 9ifte s man &7
(1) 1972 (2) 1973 (3) 1974 (4) 1975

Who among the following identified five stages of economic development in the
world?

{1} Ashley (2) Grass (3) List (4] Rostov
frofafes & @ e fawa 3 arfifs w5 o9 wd/9ol & weR fF?
(1) T (2) (3) e (4) Teara

Who treated imbalanced ['E-‘C‘.Gﬁﬂmi(‘.‘] growth 8% a pre-requisite to econormc
development?

(1) Hirschman (2) Perroux (3) Rostov © 4} Myrdal
Fge smgfom (snfie) 9fz ot afdfe fawm & fou s omns
(1) & (2) T8 (3) U=im (4) yow

Who among the following has not been associaled with works in the BBl at
regional development and planning?

f1) L. S. Bhat (2) V. L. 8. Prakash Rag
(3} C. R. Pathak (4) R. L. Singh
ﬁmﬁﬁﬁqmﬁm@ﬁﬁm%@aﬁwﬁﬁmﬁﬁﬂ?
(1) Telo THo Wg (2) 9o W Wo yETy g
(3) dlo 9o IH () >~ . g

19
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61. Given below are two statements. One labelled as Assertion (A) and other labeiled
as Reason (R). Select your answer from the codes given below :

(A} Uttar Pradesh is the most populous State of India but it 1s not at the
top in terms of development.

(Rl The State is characterized with regional disparities in levels of
development.

(1) Both (A) and (R) are true and (R} is the correct explanation of {A)

{2} Both {A) and (R) are irue but {R) is not the correct explanation of (A)

(3] {A) is true (R) is false

4] (A 1s false (R) is true

ﬁwﬁﬂwﬁluﬁﬁmmgmaﬁiqﬁaﬁm(ﬁ}é‘ﬁmﬁﬁmw%iﬁ%
(A) T T WIE W waEihE S A T § g fas g ® R i

T 2

@) Ta frEm ¥ A og # e fea ot e

(1) (a) ot (R @ W@ & @ (R), () B T emEn 2

(2) () @i (R) 3t wE g (R), (o) B saen T R

(3) (A) = } (R) Tewd @

[4) (A) T ¥ (R) TR

62. Which one of the following is not an indicator of development?

(1) Per capita consumption of electricity
[2) High literacy rate

(3) High land productivity

(4] High hirth-rate

20
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64.
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= d 8 R w fom = s 7 27
(1) it =afe fage 3gam (2) I WSS &
(3}331{[1‘;@33@1 (4) 3= SH-F

Which one of the following is not an Inter-State Regional Plan?
Y} South-East Resource Region Plan

(2} Royal Seema Plan

(3] Western Ghats Plan

(4] National Capital Region Plan

=B W e sawefis frew w27

(1) gam-gdi wamag &3 fem (2) Tiaer dr Srrem

(3) wfeerft arz firem (4) W T 87 (Wodtoamme) figrerm

Which one of the following i I 1
g 18 not used as a variable for ] 1M
Development Index? Hiasting Human

(1) Literacy {2) Per capita GDP

(3} Urbanization (4} Life expectancy

EER %mmuﬁmumdﬁmﬁmm#%fmm%mﬁﬁm?

(1) T (2) Wi ofeR Hodetto
(3] Tl - (4) ST e
21
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65. Which one of the following pairs is net correctly matched?

Rivers Dams
(1) Mahanadi Hirakud
(2} Damodar Matatila
(3 Chambal Gandhisagar
(4} Tapi Kakrapara
Fred gl § & i gifeg o 27

Treat Y
(1) wEr ERTES
(2) Zye e
(3) T TR
4 aedy FTFTHT

66. Which ane of the following energy sources contributes maximum to the power

seotor?

(1} Hyrel (2) Nuclear (3) Thermal (4) Wind

o wol gl f & F1 ufE @ve B e TEE g 7

{1) et (2) SO (3) anfra @ =g
67, The location of Hindalco at Renukoot (UP) basically owes to its proximity to

(1) raw material source (2) vast market

{3} abundant power {4} cheap labour

Rz B e (30%e) ¥ srafeufy @1 9g@ FO @ FRe

Lljﬁmﬁaaaiﬁﬁ (2) fowme aem 8

o o a8 S

22
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70.

71.

31
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Which one of the following is the leading producer of coal in India?

(1) Jharkhand (2) Odisha (3) Chhattisgarh (4) West Bengal
e & 3 99 wra d Fae =1 TR sEEE 27
(1) #REvS (2) anfem (3) eeflog (4) uffam s

Which among the following is the most suitable State for location of sugar
industry?

(1) Uttar Pradesh (2} Bihar

(3) Teunil Nadu (4} Madhya Pradesh

e d 8 w7 96 i f sefef  fo bt o 27

(1) 3o W (2) faEm (3) derg (4) TETTEm
Coromondal Coast of India receives its major share of rainfall during
{1} January-February (2) March-May

(3} June-September (4) October-November

PRINUGE T2 W a9 F1 AT I e 2
(1) SHat-wraft 4 (2) ard—nd 3 (3) GF-Rmm § (g HETH T

(1) Giridih (2) Hazaribagh {3) Kodarma (4) Dhanbag
n, ; | a
AR R I R o
) e (2) T (3) Frzwa
[4) o
23
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T2. Which one of the following is largest lignite coal producing field in India?

11 Singrauk (2] Neyveli (3) Makum [4) Karanpura
frr & & w wme S gen feme e o 8% 37
(1) R (2) e (3) TN (4] FTT

73. The demographic divide in India corresponds with
(1 1911 (2) 1931 (3} 1951 (4} 1971
Wi § TRy fem i w

(1) 1911 ® (2) 1931 ® (3) 1951 ® (4] 1971 ®

74, Which one of the following National Highways does not pass through the
National Capital Region?

ﬁmmﬁﬁﬁﬁqwﬁqmmﬁr%ﬁﬁqﬁgm?
(1) NH-1 (2) NH-4 (3) NH-8 (4} NH-10

75. Chhatusgarh was formed as India's

3) 25th St 26th Sta
(1) 22nd Stale {2} 23rd State (3) 25th State (4) 26th e
.I e [

FeiETe I T T &

% F : % = ¥
(1) 228 7 ¥ A (2) 283 = = T
(3) 054 T % ® W @) 263 T2 % w7

] Valley is a chamdteristic feature of
: (2) Arid topography
{# Coastal tﬁpugraphy

76. Binc
(1} Karst topography
(3) Glacial topography

24
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sy af v fifie sl R
(1) F F=mEe $i (2) Y I=Ed H
(3) feurht s=mme 6 (4) 99 I=EEE it

Scandinavia is a suitable region for development of hydroelectricity due to
availability of

(1) steep slopes {2) huge lakes (3) great rivers  (4) waterfalls
%@ﬁmm@%ﬁm%%ﬁwmﬁaé,mw%ﬁﬂm
(1) @ et & (2) fowm el B () =R Afd B (4) STeryuml i

Which one of the following is a latent {type of) resource?

{1) Coal {2) Uranium 3] Mineral oil {4) Sunshine
e 1 & #9 w eow dunm 20
(1) HiTe (2) Lifem (3) @F= dw (4) e

Which one of the following is not under the influence of Mediterranean type of
climate? i

(1) ltaly (2) Venezuela (3) Central Chile (4) California
ﬁwﬁéaﬂqumam%mﬁaﬁ%?
(1) geeft (2) ST (3) wexr faeh (4) Fefiwifar

The largest part of Continental type of climate lies in
(1) North America (2} Africa
(3) South America e . [4) Burasia
25
fP.T.O.)
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(1) 3t omfer # (2) Ew @
(3) zfemf smfte o (4) Tfirn #

81. Which onc of the following is known as the carbon sink of the Earth?

(1) Antarctic Ice Sheet (2) Sahara Desert
(3) The Equatorial Rain Forest (4) Taiga Forest
f 8 & f gel e fow a9 R
(1) srerhfes fem == (2) HER] W
(3) Vet wgEER & (@ ¥m =
82. Which one of the following countrics stands second in terms of per hectare yield
of rice?
(1) China (2} India (3) Indonesia (4] Vietnam
B b § R 9 WA ¥ 9 o I g § g W W 7
(1) = (2) WA (3) SVEHTE (4) Toraemm

83. Detroit (USA) is known for its

[1) iron and sieel industry (2) textile industry
(3) automobile industry (4) chemical ndustry

fezie (goTHolo) WHI I
(1) & @ wow w@m ¥ () 7= 3am % fau
mW:ﬂﬁ%ﬁﬂ (4) WA | &

26
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86.

87.
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Which one of the following tropical deserts is located in Scuth America?

{1) Atacama (2) Thar (3} Kalahari (4] Sonoran
A somRedly nee § @ 9 el aife § o 27
(1) IEEMET {2) 4R (3) HTEATER (4) @A

Which one of the following is the most important factor in delineation of a
planning region?

(1) Physiographic unit (2) Demographic heterogeneity
(3} Uniformity of problems (4) Functional unity
mﬁﬁﬁ—wwﬁmm%mﬁmmﬁm%?
(1) y-wgfes (2) FTfeReRr fammran

(3) wAesll Y wwET (4) Frles T

P. Sengupta in 1968 proposed regionalization of India based on

{1} single-tier (2) two-tier (3) three-tier (4] four-tier
Ho WA X 1968 F wRa w WY yERE f

(1) Tty (2) fowrlm (3) Prertia @ el

Given below are two statements. One labelied as Assertion (A} and other labelled
as Reason (R). Select your answer from the codes given below .

(A] The delineation of planning regions must always begin with discovery
of micro-regions,

(R) Micro-regions are easily identifiable,
(1} Both (A) and (R} are true and (R) is the correct explanation of (A
|2} Both (A} and (R} are true but (R) is not
(3) (A) is true (R} is fates
(4} {A) is false (R) is true

the correct explanation of (A)

27
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A o fm o F) T R FeE (A) R ZW W FA (R) % w0 A o o g1 A
[ A el (£ :
{A}mﬁﬂmﬂﬁmwuﬁﬁm%mmmmﬁm

(B) Y RN YAl ¥ YEAW 1 Fhd el
(1) () 3 (R 26w E W (R), (A) T STEN R
Q) (A) 3k Ry 2wl E TR (R), (A) F wE @mE T 8
(3) (a) 88 B (R) T B

{4} (A) 7o % (R) @ 2

88. Which one of the following countries derives the highest percentage of its energy
from nuclear power?

(1) Sweden (2} Belgium (3) France (4) Germany
frg 3o # @ a7 orFh I w1 veE vRwW o) RE B Y A AT
(1) W& (2) e (3] FiH (4) S

89, Which one ol the following pairs is not correctly matched?

State Town
(1) Wisconsin Detroit
(2] Texas Houston
{3} washinglon Seattle

. : Sacramento
(4) Califorma

28
(31)
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Frer gl & & 2t qitfem wdf 27

T TR
(1) FereTRe fegie
{2) L 120 o L
(3) arf¥mrz - faee
(4) S e
90. If population of an area is i asi
S €& 18 mcreasing at the rate of 2+1 percent Per annum, it wijl
(1) 37 years (2) 33 years (3) 20 years (4) 28 vears

(1) 37 =i # (2) 33 af § (3) 29 3§ ¥ (4) 28 &§ §

E r

1) 8w

(1) Sweden (2) Italy (3] Monace {4) Philippines
maﬁﬁﬁﬁnﬁm—ﬂﬁaﬁﬁm%f

(1) =ids {2) zeeht (3) TRt 14} ety

92. Footloose industries are example of
(1] primary activities
(2) secondary activit
. -CONdE ties

{3) tertiary activities - (4) quaternary actjpjy;
ies

(31) 29
P.T0,
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e TS TN I 8
(1) walw Bl |

(3) qdrr Graadt =

93. Pygmies are inhabitants of
(1) Columbia Basin

(3] Po Basin
frofre e &
(1) wFrofemr ¥R +
(3) T afA &

(2) Teeims femedt =
(4) sgdw frna =

(2) Congo Basin

(4) [rrawaddy Basin

(2) ®t AfeE
(4) T AR F

94, Which one of the following is not correctly matched?

(1) Downs
(2} Prairies
(3) Lanos
|4) Velds

b 3 & Hn R @ 27
1) &

31)

30

Australia
North America
South America

Eurasia

e fern
Al Rl

afoft TR
wfimn
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96.

97.

98.
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Which one of the following is the cold current of Atlantic Ocean?
{1] Florida current h (2) Agulhas current

(3) Benguela current (4) Brazilian current

= & & 99 seoifs e f 38 a7 27

(1) ®WiReT o0 () U U (3) T AW (4) SR 9W

Which one of the following is the 'lcadirig producer of natural rubber in the
world?

(1) Thailand (2) Indonesia (3) Malaysia (4] Vietnam
B d ] 9 Ry @ el S o semE 7
(1) umRve (2) 3vErafimn (3) e (4) Fgaam

Which one of the following National! Highways
e T g ghways passes through Nagpur and

e gt F & w7 e o Ao dow o 4t

(1) NH-1 (2) NH-4 (3) NH-7 (4) NH-10

Lavasa, said to be an eco-city, i§ located in the State of

(1) Himachal Pradesh (2) Karnataka
(3) Tamil Nadu (@) Maha:agﬁtra
AT, UF FRE whfERS T, Rm 2 Bl
(1} femrer wam ..  (2). T
(3) g # . e g

31
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99. Match List—I with List—I] and choose the correct answer from the code given

(31)

below

List—I (Thermal Power Station) List—II {State}

{a) Ukai
(b) Patratu
{c) Pench
{d) Dabhol
Caode :

a) {b] (el
Y | R N
@ @ @
) I (i) (1)
4) vy @ @

(ij Jharkhand

(i) Gujarat

filii Maharashira

(ivy Madhya Pradesh

-1 e g SR g AR By g g @ ad s Eh

g1 (am whE F37)
[a';m

(b) T
() =

(d) s

£

(a) (b (@
a8 (31} (i) {iv)
(2)  Gi) ) {i)
@ W @y W)
“ v A W

(d)

(i)

(iv)

{ii)

(1)

ge—I {T=9)

(ij #RETS
(i) T
i) g
(iv) weNeY

(d)

(iii)

(iv)

(i)

(ii)

32
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In which one of the following countries per hectare very high yvield of wheat
basically owes to high technological applications?

(1) Brazi © (2) Canada (3) Argentina  (4) Netherlands

P e F A Bt W R R Ro wgE 3 9w e I TR S agwRim ¥
HRoT Bt &7

(1) wiE (2) FATE (3) rkfen (4) ewEvgs
The bulk of railway coaches in india are manufactured in
(1) Punjab and Tamil Nadu (2} Odisha and West Bengal

{(3) Tamil Nadu and West Bengal (4) West Bengal and Punjab
R i et @ aftrn Rff o ¥

(1) v @ dfeg @ (2) aNTew & fwm wye §

(@) oermg W wRm AT §  (4) offew e o o &

Which one of the fuliﬁwin,g countries of South Asia is most urbanized?
(1) India (2) Sri Lanka  (3) Bhutan (4} Peligli
gfor v & Fier ot F & W9 Wi g 47

(1) wg (2) At (3) H (4) Tl
The highest pefcentage of tribal populatiuﬁ in India is recorded in

(1) Jharkhand (2} Misoram (3) Chhattiegashr (4) Nagaland
YRT A SR w
e d @ PR @ e e

33
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104,

105.

106.

31

Which one of the following States of India has the highest percentage of area
under cultivation as well as production of soyabean?

(1) Rajasthan (2} Madhya Pradesh
(3) Uttar Pradesh (4) Maharashtra

wiE % frm oved A @ fred dwm B R % ewwla & awr s M H
v et 27

(1) TSRuE (2) WEASeE (3) I oW (4) TENIE

What distinguishes the humid continental climate from the climate of tropical
and sub-tropical regions?

(1} Cold winters (2) High temperature
{3) Heavy rains (4) Frequent droughts
o T wemm W I A Iaer R A SeEy § e w A
(1) 33 3fa =g (2) IH ATHA (3} wrlt =i (4) FR-TT Tl

The urban population of the world is growing faster than its rural population
because of

(1) high birth-rate in tewns (2) low death rate in towns

(3} rural urban migration (4) high death rate in rural areas
S 3 g e e e @ e o & @ @ R, T

(1) F § 39 FH-T @ T # o @
{33mﬁm%mﬁmaﬁnanm (@) T & § 9t g

34
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Which one of the following is known as the steel capital of the world?

(1) Mid-Rhine Region (2) Pittsburgh Region
(3) Ruhr-Westphalia Region (4) Moscow-Gorky Region
A= d 4w o A v et $ w0 § 9w a9 27
(1) T=-Tg 8 (2) Figwet &
(3) W-IwHferar g3 (4) wvER-met &
Which one of the following is not correctly matched?

States Manganese Ore
(1) Andhra Pradesh Sonpiiram
(2} Karnataka Chitradurg
(3} Odisha Balaghat
(4) Madhya Pradesh Jhabua
53§ & o gifm o ¥

g Frefter sraew
(1) JFTmR - Higw
2} T ferest
3} sitfem - AENE
(4) TEEEw g
The Ganga Action Plan was initiated in
(1} 1956 2} 976 (3) 1986 (4} 1006
i T A T B -
(1) 1956 # (2) 1976 3 - () 19{@,? (4) 1996 #

PT0)
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110. Match List—I with List—II and choose the correct answer from the code given

below :

List—I (States} List—IT {Shipyards)
(a) Odisha {ij Garden Reach
(b) Maharashtra (iij Hindustan Shipyard
[c) Kerala (i) Mazagaon Docks
(d) West Bengal (i) Cochin Shipyard
Code :

@ ®m (© @
(1) (11} (iii} (iv) (i)
2 ®  Gv ) )
@ @) @ H
(4) {1 (ni) (iv) {i1)
W—Iﬁwﬁuﬁgﬂﬁaﬁﬁqwﬂ%ﬁﬁmg%wmﬂﬁq:

g1 (Ts4) ge—1 (Sara)
(a) fEam @ e f
(b} WEwTg (i) fegwm fRmard
(c) ¥ (iii) wemia Sfda
(d) ufrm & (iv) FrEA firErd
Fe

@ ® @ W
@) @ v 0
2 Gvp G ()
@ @ @ 0O
@ ) @ B @

36
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Which one of the following is the oldest Department of Geography of the
Country?

(1) Geography Department, Banaras Hindu University

{2) Geography Department, Allahabad University

(3) Geography Department, Aligarh Muskim University

(4) Geography Department, Calcutta University

4 3 29w W @ gow g R 27

(1) ghet R, el fomg Reeafirarem

(2) i R, e Rt

(3) et v, iefing e fvafeamm

[4) et feamr, e Rrvafieerr

dwu}-;r:.j: bdc:;og E;;ar;dufn;ar of faults occluring at a place remains in the same
(1) step fault (2} reverse fault (3} thrust fauit (4) normal fault

Wﬁzﬁmmwﬁaﬁ#ﬁwﬂamﬁﬁmﬁfﬁmt,ﬁﬁwﬁ
(1) SoEt sy IR L NG - I R e————

T
Ruhr Industrial Region is located in

(1) France (2) Germany (3)
: (4} Russia
w P 87 el 2 B

I"“-m
(1) %w & (2) = (3) weit & (4) =g 3
Who among the following mﬁatjmte the largest tribg] gﬁup of India?
ia;
(1} Gonds (2) Todas (3) sanmmg'\w
: " . Tharug
I a7 '

(P.T.0,)
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s 4 & #17 ymg | gen SAeEE 3 ST 27

(1) T3 (2) e (3) ot (3) o
115. Who asserted that ‘man is product of Earth surface’?

(1) E. Huntington (2) G. Tavior

(3) Carl Q. Sauer (4) E. C. Semple

e o % wy W B gee -y A oI R7

(1} §o ¥fomA @) o ¥ew

(3) F o AR (4) $o o A
116. Which one of the following forces is associated with ‘Ferrel’s Law’?

{1} Frictionaol force (2) Centripetal force

{3) Coriolis force (4) Pressure gradient force

B wRedl § @ W R B @ oefe 87
(1) oo &=t () kg wa  (3) Ffeifm 9 (4) T T T

117. Given below are two statements. One labelled as Asser.tjun (A) and other labelled
as Reason (R). Select your answer from the codes given below :

(A) Growth of urban population in India is not leading to increase in the
level of urbanization.

(R) Rate of growth of urban population in India has not significantly
decl‘lned.

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2} Both (A) and {R) are true but (R} is not the correct explanation of (A)

(3) (4) is true (R} 18 Fatst— -
@) (8) is false (R} is true

38
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amﬁﬂﬁﬁiqﬁﬁmmaﬂn@i#w[R}ﬂsﬁﬁﬁmw%fﬁ
e T g2 & vl 3w yfw .
(A) wra e s i iy, mﬂamﬁqﬁ:mmqﬂal
(B) wra # wlw e & gl § sgea g T gen R

(1) @ sk ® 3 =@ @ (R, ) B ¥R e

2) () 3 (R) I =@ € weg (R), (A) A v =wEN TE P

3) (A) wt § (R) T @

(4) (A) Te R (R} A R
118. When did the world experience its first major energy crises?

(1) 1968 (2) 1973 (3) 1978 (4) 1983

e 3 w9 wwm sgE o9 ¥ F ADE BT

{1) 1968 (2) 1973 & (3) 1978 i (4) 19&3 ]
119. Mongolo-Dravidian races in India are found in which one of the following areas?

(1} West Bengal and Coastal Odisha

{2) Rajasthan and Kashmir Valley

{3) Himalayan Region a'nc‘l”hssam

{4) Gujarat and South-West Madhya Pradesh

e - g el wma & fe A @ R O3 § v o

() S () TR @ R
3 el @8 @ o R P

39
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120. Which one of the following pairs is not correctly matched?

States Fron Ore Mines
(1) Kerala Kozhikode
(2} Karnataka Bellary-Chitradurga
(3} Odisha Namagiri Hills
{4} Maharashtra Ratnagiri
Pt gt @ # gt 7 27

U e waew GeH
(1) & Frefrater
(2} AT g -t
(3) 3Aifem il e
(4) TETOY i T

* Rk ®
40 D/7(81)—1133
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